¥ Maths Knowledae Oraaviser Topic G: Distauce-Time (graphs

what must T be able to do? | Key Vocabulary

You may veed +o revise +he following: Distance-time | A graph where time is
o Mear & Topic A Rates of Change graph plotted against

New content: distance from a fixed
O TIwterpret distance-time graphs and speed-time araphs point. Time will

always be the

O Understand that the gradient of a distance-time graph represents speed ‘ )
horizountal axis.

U Find speed and distance from information on a travel graph
All WMathswatch Gb 142 (GCSE)

Key Features of a Distance-Time araph
The gradient of the line represevts the speed they are travelling. Time is on the horizowtal axis and distance on the

i Vertical axis. 4 .
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Time is on the horizontal axis, speed on the vertical axis. ”
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